


e
35
=
T

g J 2 A2 e

;\ REFA(F)2 - KAR2AFCEFRBER
+ AR RRER
RLELREFRAD CFRARFR >
SRR FR LY RE

)




- B FE R IR
HS HF B
- qAXd T

E&ﬁ)‘ T

3/99



3 i

SR A
RERE- 22FEY S
11990#10% 31p = =

3% B K1 4555
3346%EF 1

2003#10% 17p & = %
CEEORN ]

2009# > % - F3LiE
EREGERT EF IR




NPV 4 KB & (Expert)
12k wEEHARE B N
B Ry

M #itE#ERE

N3 #E+epsn

VK 3% 2

N N EAdE

NP IV # i P& & (Proficient)
iast BEFARYE S8 HE
B3

finbak <— NP 111 B 4% B¢ £ (Competent)

BEEARE SF - #E

Mk NPII i Bk 4% ¥ B f (Advanced beginner)
BEEHEE - BF  HE

————————————— —% NP I % %P f(Novice)-§ $ 8%

ES Bk 3 TE & 21| 4R

fTECE 3 H#E P ER 4R




A1AE s i A > BN 2 A BRA

i A B VE TR BRI 5
R A A

iy ﬁ'j%'s\% i] .‘I"‘:;.’JR.’E;T,Q A E}"ER’}E“’ B\,L? 12024

PEEBPPHRIELAIES

- ' ps://news.readmoo.com/2016/03/16/2016workplace/






i p

B = F1(& B 35.%)
& B17mAm sk
* 28,420+ 1% & & 11200(;%$)=39,620 =

~ & 15540
* 426,760+ it & & 11200(;%#)=37,960 ~

—m%*%%%i’?%ﬁ’Aﬁfﬁ&—




A A&F
Wt ~ R f#‘ﬁ%ﬁgiﬁ'ﬂ
FEREEFE- B RFRE- 2
3 AL lﬁllo 2 "%12—’ ¢ ;%—ET v

AEFEMER » RITEF FTRAE EFLE A7

— - 42 RFIG00/X » BFIA50/X
SRR AFLY I 2153 /0
- R FI800~/% » BLFIE507/%

TSR R R

£ 4 fa ]



(W4




